Potencias de 10 (G)

42 =1073

271073

221073

88 +1073

55+1073

501073

80103

99 + 1073

261073

89+1073

Calcule los siguientes cocientes.

33+107°

83+107°

241073

551073

68 ~1073

5=103

201073

301073

46=1073

841073
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Potencias de 10 (G) Respuestas

42 =103
42,000
271073
27,000
22+1073
22,000
88+~ 1073
88,000
55+1073
55,000
501073
50,000
801077
80,000
99 =103
99,000
261073
26,000
891073
89.000

Calcule los siguientes cocientes.

331073
33,000
831077
83,000
24 +1073
24,000
55+1073
55,000
681073
68,000
5=1073
5,000
201073
20,000
301073
30,000
46 1073
46,000
84 +-1073
84,000
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